ERRBHELEEES ZERRSRENEER (FR27F2A238K%)

B §f:uSv/h ,
| MEH KB | H27223 | & | H27216 | g | H2z2o [ 2 | wez22 [ m [ Hera2s | B | Herido | m | H271a4 | W | H2716 H26.12.22 | &
3R E B RS 1130 ~ 1200|1130 ~ 1156|11:10 ~ 11:36{11:18 ~ 11:50]10:49 ~ 11:16]1025 ~ 10:51|11:15 ~ 11:43[1043 ~ 11:11]1052 ~ 11:24
HME | fiEEes T Ty Ty Eiy Ty EH iy Ey iy
GL 50cm 0.04 0.05 0.05 0.04 0.04 005 0.05 0.05 0.05
MEfA |GL100cm 0.05 005 0.05 0.04 0.06 0.05 0.05 0.05 0.04
GL 50¢m 0.06 0.07 0.07 0.05 0.07 0.07 0.07 0.06 0.06
155 | BRA GL100cem 0.06 0.06 0.06 : 0.06 0.06 0.06 0.06 0.06 0.07
el @ |GL 50cm 0.06 , 0.07 0.05 0.07 0.06 0.06 " 006 0.06 0.06
E_E REHE |GL100em 0.06 0.06 0.06 0.06 0.60 0.06 0.06 0.06 0.06
fg GL 50¢m 0.05 0.06 0.06 0.05 0.05 0.05 0.06 0.06 0.06
A | =B |cL100cem 0.05 0.06 0.06 0.05 0.05 0.05 0.05 0.06 V 0.06
GL 50cm 0.07 0.07 0.07 0.05 0.08 0.08 0.09 0.09 0.09
LB/ (GL100em 0.06 0.07 0.06 006 0.07 0.07 0.08 : 0.08 0.07
EER \ '
AEr |914 ~ 946|930 ~ 1030] 920 ~ 957]|932 ~ 10:19f 915 ~ 946|910 ~ 940|919 ~ 949]|934 ~ 1006) 928 ~ 9:59
HE | fEes T iy iy EH 14 Y Ey Ty i
@ |GL 50cm 0.06 0.04 0.05 0.04 0.06 0.05 0.05 0.05 0.06
E M |GL100cm 005 | 005 0.05 0.04 0.05 0.05 0.05 0.06 0.06
@ |GL 50cm 0.06 0.06 0.06 005 0.06 0.06 0.06 0.06 0.06
18 i # |cL100em 0.05 0.06 0.05 0.04 0.06 0.06 0.05 0.05 0.05
7| ® 6L S0cm 0.06 0.06 0.06 0.05 0.06 0.06 0.05 , 0.06 0.06
| & ® |GL100cem 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.06
{E @ |GL 50cm 0.05 0.04 0.05 0.05 0.05 006 0.04 0.05 0.06
A = m {G100m 0.04 0.04 0.04 : 0.04 0.05 0.04 0.05 005 ° 0.05
® |GL 50cm 0.07 0.07 0.05 0.06 0.07 0.07 008 - 0.05 0.06
BT HR|GL100cm 0.06 0.06 0.06 0.06 0.07 0.06 0.06 0.05 0.06
Eg
BEEKA HABE {HEME HAamE HEME HABE HAmE HEME HEME HEBE
BIERBES HARBERSRE=4— K EHREERS(PA—1000 Radi) .




